RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Arizona Department of Public Safety Criminal Justice Information User Agreement)

RESOLUTION NO. 2000-184

1	MILEDEAC	
	WHEREAS,	Article VI, Section 1(f) of the Tohono O'odham Constitution provides that the Tohono
2		O'odham Legislative Council has the power "To consult, negotiate and conclude
3		agreements and contracts on behalf of the Tohono O'odham Nation with Federal,
4		State and local governments"; and
5	WHEREAS,	Article VIII, Section 1 of the Tohono O'odham Constitution provides that, "The
6		judicial power of the Tohono O'odham Nation Shall be vested in the Tohono O'odham
7		Judiciary" Further, Article VIII, Section 5 of the Tohono O'odham Constitution
8		provides that the Chief Judge shall be the "chief administrative officer of the Tohono
9		O'odham Judiciary"; and
10	WHEREAS,	in order to insure that the constitutionally assigned tasks of the Judiciary will be
11		performed properly, it is necessary that the Judiciary establish employment
12		standards for its employees; and
13	WHEREAS,	the Tohono O'odham Judiciary has adopted job descriptions for all positions of
14		employment within the Judiciary. These job descriptions have been approved by the
15		chief judge, and contain pre-requisites for employment with the Judiciary; and
16	WHEREAS,	one of the pre-requisites for employment with the Tohono O'odham Judiciary is that
17		a criminal history background check shall be completed regarding each applicant
18		to ensure the applicant's suitability for Judiciary employment; and
19	WHEREAS,	the Arizona Department of Public Safety maintains an information access system
20		which authorizes access to criminal history information for criminal justice
21		purposes; and
22	WHEREAS,	execution of an Arizona Department of Public Safety Criminal Justice Information
23		User Agreement by the Tohono O'odham Nation and the Arizona Department of
24		Public Safety is necessary in order that the Tohono O'odham Judiciary may receive
25		access to the requested criminal history information; and
26	WHEREAS,	the Judiciary Committee of the Legislative Council of the Tohono O'odham Nation
27		has reviewed the Arizona Department of Public Safety Criminal Justice Information
28		User Agreement and recommends its approval by the Tohono O'odham Legislative
29		Council.

RESOLUTION NO. 2000-184

I	(Approving the Arizona Department of Public Safety Criminal Justice Information User
	Agreement)
I	Page 2 of 3
I	-

1	NOW, THEREFORE, BE IT RESOLVED by the Legislative Council of the Tohono O'odham Nation
2	that it approves the Arizona Department of Public Safety Criminal Justice
3	Information User Agreement and directs the Chairman of the Tohono O'odham
4	Nation to execute said Agreement for the benefit of the Tohono O'odham Judiciary.
5	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>01ST.</u>
6	Day of <u>MAY, 2000</u> at a meeting at which a quorum was present with a vote of <u>1.521.4</u> FOR; <u>644.1</u>
7	AGAINST: <u>-0-</u> NOT VOTING; and <u>[02]</u> ABSENT, pursuant to the powers vested in the Council by
8	Section 1 (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the
9	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
10	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June
11 12	18, 1934 (48 Stat. 984).
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	-7
15	
16	the des
17	Dennis Ramon, Legislative Chairman
18	
19	<u> </u>
20	
21	
22	ATTEST:
23	
24	
25	Noch land
26	Julianna Saraficio, Acting Legislative Secretary
27	
28	<u>OI</u> day of <u>May</u> , 20 <u>00</u> .
29	
30	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
31	O'Odham Nation on the <u>3</u> day of <u>man</u> , 20 <u>at 11:59</u> o'clock,
32	A.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
33	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours
34	of submittal.
35	
36	TOHONO O'ODHAM LEGISLATIVE COUNCIL
37	
38	
39	for the second s
40	Dennis Ramon, Legislative Chairman
41	
42	
	u de la construcción de la c

I DISAPPROVED at #24 o'clock, #.M. Image: Distribution Image: Distribution EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the day of, 20_0, at 11.48 o'clock, #.M. Julianna Saraficio, Acting Legislative Secretary	(A	ESOLUTION NO. <u>2000–184</u> pproving the Arizona Departme greement)	nt of Public Safety Criminal Justice Information User
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>	Pa	age 3 of 3	
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>			-th.
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>			Fue m
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>	└ ` ⟩	APPROVED	on the day of, 20_00
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>	2 / 3 [
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>0577</u> day of <u>May</u> , 20 <u>00</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>	3 [] DISAPPROVED	at o'clock,M.
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>D575</u> day of <u>May</u> , 20 <u>D</u> , at <u>11:48</u> o'clock, <u>A</u> .M. <u>Julianna Saraficio, Acting Legislative Secretary</u>	1	-	
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>D575</u> day of <u>May</u> , 20 <u>D</u> , at <u>11:48</u> o'clock, <u>A</u> .M. <u>Julianna Saraficio, Acting Legislative Secretary</u>	4 5		α α α α
EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the <u>D575</u> day of <u>May</u> , 20 <u>D</u> , at <u>11:48</u> o'clock, <u>A</u> .M. <u>Julianna Saraficio, Acting Legislative Secretary</u>	5		Margare Contraction
Returned to the Legislative Secretary on the <u>057</u> th day of <u>May</u> , <u>20</u> , at <u>11:48</u> o'clock, <u>A.M.</u> <u>Mamue</u> <u>M.Sum</u> <u>Julianna Saraficio, Acting Legislative Secretary</u>	7		EDWARD D MANUEL Chairman
Returned to the Legislative Secretary on the <u>0.57</u> th day of <u>May</u> , 20 <u>OO</u> , at <u>11:48</u> o'clock, <u>A</u> .M. <u>Julianna Saraficio, Acting Legislative Secretary</u>	8		
Returned to the Legislative Secretary on the <u>DSTA</u> day of <u>May</u> , <u>20</u> , at <u>H:48</u> o'clock, <u>A</u> .M. <u>Mama</u> Julianna Saraficio, Acting Legislative Secretary			TUHUNU U'UDHAM NATIUN
Returned to the Legislative Secretary on the <u>DSTA</u> day of <u>May</u> , <u>20</u> , at <u>H:48</u> o'clock, <u>A</u> .M. <u>Mama</u> Julianna Saraficio, Acting Legislative Secretary			
Returned to the Legislative Secretary on the OSM day of May, 2000, at 11:48 o'clock, A.M. Julianna Saraficio, Acting Legislative Secretary			
Returned to the Legislative Secretary on the OSM day of May, 2000, at 11:48 o'clock, A.M. Julianna Saraficio, Acting Legislative Secretary	L 📗		
Returned to the Legislative Secretary on the OSM day of May, 20 OC , at 11:48 o'clock, A.M. Julianna Saraficio, Acting Legislative Secretary	2		
Returned to the Legislative Secretary on the OSM day of May, 20 OC , at 11:48 o'clock, A.M. Julianna Saraficio, Acting Legislative Secretary			
May .20 00, at 11:48 o'clock, A.M. Alme M. Sum fr Julianna Saraficio, Acting Legislative Secretary	3		nsth.
May .20 00, at 11:48 o'clock, A.M. Alme M. Sum fr Julianna Saraficio, Acting Legislative Secretary		eturned to the Legislative Secre	etary on the <u>U is a day of</u>
Julianna Saraficio, Acting Legislative Secretary	5	1	
Julianna Saraficio, Acting Legislative Secretary	5	May .20 00	. at // 78 o'clock. 7 .M.
Julianna Saraficio, Acting Legislative Secretary	7	A Ph C	,
Julianna Saraficio, Acting Legislative Secretary		Khine M. XIN	r ly
	3	Para Cor	
) Ju	llianna Saraficio, Acting Legisla	ative Secretary
)		
	L		
	2		
	3		
	1		
	5		
	5		
	7		
	3		
)		
	1		
	2		
	3		
	4		
	5		
	5		
	7		
	8		
	9		
	0		
	1		
	2		
	2 3		
	1		

ACTION: APPROVING THE ARIZONA DEPARTMENT OF PUBLIC SAFETY CRIMINAL JUSTICE INFORMATION USER AGREEMENT

MOVED: COUNCILWOMAN EVELYN JUAN

SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: MAY 01, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	X			
	2. RITA MARTINEZ** (Nicholas Jose)	85.9	х			
SELLS 372.7	1. DENNIS E. JOSE	186.35	х			
5/2./	2. EVELYN JUAN	186.35	х			
SCHUK TOAK	1. MARY FLORES**	66.7		X		
133.4	2. AMBROSE ENCINAS	66.7		X		
SAN XAVIER	1. TONY BURRELL**	82.95	х			
165.9	() 2. DENNIS RAMON ()	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	х			
286.5	() 2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
GU ACHI	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	х			
209.6	2. ALEX J. RAMON	104.8	x			х
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	х			
156.8	2. JOHNSON JOSE	78.4	x			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05		X		х
128.1	() 2. GLORIA RAMIREZ ()	64.05		х		
GU VO	1. FERN SALCIDO	80.0		х		
160.0	(2. GLORIA MONTANA ** (Phillip Antone)	80.0		X		
HICKIWAN	1. ALEX JOSE	79.05	х			
158.1	(Shirley Santos) 2. LLOYD FRANCISCO (Susan Sam)	79.05	х			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3		х		
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3		x		
Т	OTAL	2,165.5	1,521.4	644.1	-0-	[02]